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Question Number : 1 Question Id : 6801914567 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The regular pentagon's interior angle is degrees.

1. 82
2. 108
120
4. 160

Options :

Taa

68019117801. 1
68019117802. 2
68019117803. 3
68019117804. 4

Question Number : 1 Question Id : 6801914567 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
collegedunia:
Correct Marks : 4 Wrong Marks : 1
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82
108
120
4. 160

Options:

| R
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68019117801. 1
68019117802. 2
68019117803. 3
68019117804. 4

Question Number : 2 Question Id : 6801914568 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

This type of solid has two bases that are parallel equal polygons.

1. Cone

2. Torus

3. Prism

4. Pyramid

Options:

68019117805. 1
68019117806. 2
68019117807.3

68019117808. 4

Question Number : 2 Question Id : 6801914568 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. TRY
3. foes
4. fo=1fPrs
Options :
68019117805. 1
68019117806. 2
68019117807. 3

68019117808. 4

Question Number : 3 Question Id : 6801914569 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Nakagin Capsule Tower by Kisho Kurokawa. comes under which type of form
composition 7

1. Grid Form
2. Linear Form

3. Radial Form
4. Circular Form

Options :

68019117809. 1
68019117810. 2
68019117811. 3

68019117812. 4

Question Number : 3 Question Id : 6801914569 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. frs3u
2. 3@® FY
3. 3R EY

4. qdiPR &4
Options :
68019117809. 1
68019117810. 2
68019117811. 3

68019117812. 4

Question Number : 4 Question Id : 6801914570 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Shorteut key for Multileader in AutoCAD 2023 is

. MLN
. ML

3. MULTI

4. MLEADER
Options :

Iad =

68019117813. 1
68019117814. 2
68019117815. 3

68019117816. 4

Question Number : 4 Question Id : 6801914570 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



3Hicihs 2023 T eeTdis & AU YicdHe Poll §

1. UHUUA

2. UHUC

3. Aol

4. QIIEE S
Options :
68019117813. 1
68019117814. 2
68019117815. 3

68019117816. 4

Question Number : 5 Question Id : 6801914571 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is 'Golden Mean Ratio' ?

1. 1.30:T
2. 1:1.618
3. 1.618:1
4.1.148:1

Options:

68019117817. 1
68019117818. 2
68019117819. 3
68019117820. 4

Question Number : 5 Question Id : 6801914571 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 1.50:1
2.1:1:618
.'1.618:1
4.1.148:1

Options:

L]

68019117817. 1
68019117818. 2
68019117819. 3
68019117820. 4

Question Number : 6 Question Id : 6801914572 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
[(Architectural stvles)| (components/characteristics)
A |Egvptian I |New bonding materials
B. |Greek II. |Building skeleton and skin
C. |Roman ITI. | Trabeation
D. |Gothic IV |Optical corrections

Choose the correct answer from the options given below:

L. (A) - (D). (B) - (I). (C) - (IIT). (D) - (IV)
2. (A) - (IIT). (B) - (IV). (C) - (I). (D) - (II)
3. (A) - (I). (B) - (II). (C) - (III). (D) - (IV)
4. (A) - (IV). (B) - (I). (C) - (I). (D) - (IIT)

Options :

68019117821. 1
68019117822. 2
68019117823.3

68019117824. 4

Question Number : 6 Question Id : 6801914572 Question Type : MCQ gcollegedumas
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Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 1 &1 e gt a3

I -1
A | 1 [[2 FuT g
B. |#fi® 1. |@Id 3R @d & A
C. R I11. | 2Rff- @I
D. [TTifdd® IV. [Jr=ig gur
19 fdu e fa el F 9 95t SR I

L. (A) - (II). (B) - (). (C) - (IIT). (D) - (IV)
2. (A) - (I). (B) - (IV). (C) - (I). (D) - (II)
3.(A) - {@). (B) - (IT). (C) - (II). (D) - (IV)
4.(A) - (IV). (B) - (IT). (C) - (D). (D) - (II)

Options:

68019117821. 1
68019117822. 2
68019117823.3

68019117824. 4

Question Number : 7 Question Id : 6801914573 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of following eivilisation comes under indus valley civilisation ?
(A) Aryan civilization

(B) Harappan civilization

(C) Vedic civilization

(D) Mohenjo-daro civilization

Choose the correct answer from the options given below:

1. (A) and (B) only.
2. (A). (B) and (D) only.
3. (B) and (D) only.

4. (B). (C) and (D) only. .
collegedunia:

Options :
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68019117825. 1
68019117826. 2
68019117827. 3

68019117828. 4

Question Number : 7 Question Id : 6801914573 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafad & 9 oF o waar Ry 91 waar & sfarfd ol 82
(A) 3HTH T

(B) ST ¥Idl

(C) afe® Jagdl

(D) Alg-Teiles! qugdl

< f¢u 7Te fosedl § 9§ 9el 3R I-

(A) 3R (B) Hadl

.(A). (B) 3R (D) &ad|

.(B) 3R (D) wad|
4.B). (C) 3R (D) Had|

Options :

fag a —

68019117825. 1
68019117826. 2
68019117827. 3

68019117828. 4

Question Number : 8 Question Id : 6801914574 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The finest illustration of the fusion of Dravidian and Indo-Aryan style elements in
a temple can be seen in

. Madurat
. Konark i
onar gcol Iegedunlas

. Dilwara
. Hoyasaleshwar
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Options :

68019117829. 1
68019117830. 2
68019117831.3
68019117832. 4

Question Number : 8 Question Id : 6801914574 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U% HfeR ¥ gfds 3R Sal-3md= dll & dadl & ol ("aa) & 999 391
EEL § i@ o 9o g

3. fgearsT
4. SIGIAYR

Options :

68019117829. 1
68019117830. 2
68019117831. 3

68019117832. 4

Question Number : 9 Question Id : 6801914575 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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The principles of Universal Design includes

(A). Flexibility in use

(B). Low physical efforts

(C). Energy Eficiency

(D). Tolerence for error

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (C) and (D) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options :

68019117833. 1
68019117834. 2
68019117835. 3

68019117836. 4

Question Number : 9 Question Id : 6801914575 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
grduifie fEagT & Rigidl § wfta &
(A) STANT H <=iarg=

(B) Y YRING Wa™

(C) il Farorar

(D) Al & ufa Tg<iaar

i fdu e fabeui F 9 95t SR I:

'A), (B) 3R (D) &dal
. (A). (C) 3R (D) ad|
_(A). (B). (C) 3R (D)1
4.B). (C) 3R (D) Had|

| R
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Options:
68019117833. 1
68019117834. 2

68019117835. 3
collegedunia:

68019117836. 4
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Question Number : 10 Question Id : 6801914576 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The plan period taken into account in a " Perspective plan " 1s determined by the
Urban and Regional Development Plan Formulation and Implementation
(URDPFI) standards :

8 - 10 years

11 - 15 years
. 20 - 30 years
10 - 15 years

fagd b2 —

=

Options :

68019117837. 1
68019117838. 2
68019117839. 3
68019117840. 4

Question Number : 10 Question Id : 6801914576 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ORed g § e § W@ TS gioT Safe, el AR & faerg gie
10T SR BRI-a8A (RS UUHSTR) B! gRT FHIRd &I 5l o

. 8-10 Y
11-15 Y
.20-309Y
4.10-15 Y

Options :

fag b —

68019117837. 1
68019117838. 2
68019117839. 3

68019117840. 4
collegedunia:
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Question Number : 11 Question Id : 6801914577 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following Principle of Design is used to bring attention to a particular
space/object?

1. Rhythm
2. Emphasis
3. Harmony
4. Balance

Options :

68019117841. 1
68019117842. 2
68019117843.3

68019117844. 4

Question Number : 11 Question Id : 6801914577 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3TN P & foU fobat ST &2

.94

2. QYU

3. HTHWIY

4. ddc-
Options :
68019117841. 1
68019117842. 2
68019117843. 3

68019117844. 4

Question Number : 12 Question Id : 6801914578 Question Type : MCl( gcollegedunias

Question Mandatory : No Calculator : Scientific Response Time : N.A IINK TIE § LA



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Determine the optimum design criteria for buildings in Arid and Hot climates.
(A) Low ceiling

(B) Small openings

(C) High building density

(D) Thick walls

Choose the correct answer from the options given below:

1. (A). (C) and (D) only.
2. (A). (B) and (D) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options :

68019117845. 1
68019117846. 2
68019117847. 3

68019117848. 4

Question Number : 12 Question Id : 6801914578 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019117845. 1

68019117846, 2
68019117847. 3 @ collegedunia;
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68019117848. 4

Question Number : 13 Question Id : 6801914579 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of these does not constitute a significant greenhouse gas ?

1. Water Vapour

2. Calemum carbonate
3. Methane

4, Carbon dioxide

Options :

68019117849. 1
68019117850. 2
68019117851. 3

68019117852. 4

Question Number : 13 Question Id : 6801914579 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. BIg- SEHTES

fag 2 —

Options :

68019117849. 1
68019117850. 2
68019117851.3

68019117852. 4

gcollegedunias
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Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

Tricking filter is used for-

1. Treatment of drinking water
2. Treatment of waste water

3. Oxidation of water

4. Air conditioning plant

Options :

68019117853. 1
68019117854. 2
68019117855. 3

68019117856. 4

Question Number : 14 Question Id : 6801914580 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fem e fheex (FMUg®) &1 IUanT [ oy fasdn e 82

Uguld & 3U9R

1
2. HYIRIY O & S9AR
3.0/ & STiBRu

4. ATAI P 994

Options :

68019117853. 1
68019117854. 2
68019117855. 3

68019117856. 4

Question Number : 15 Question Id : 6801914581 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 gcollegedunias
Correct Marks : 4 Wrong Marks : 1 b



The sun protection system outside a building facade in front of apetures that
consists of permanent slates or grids is called

1. Solarium

2. Solar Panel
3. Trombe wall
4. Brise-soleil

Options :

68019117857. 1
68019117858. 2
68019117859. 3

68019117860. 4

Question Number : 15 Question Id : 6801914581 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[l 4@ & PHIS (HITE) P a6 YR (GR) P TH[E U SREUT YUITel
forem Rt wie 1 s 8ld §. Fednd! o

1. gy (ER-Fie@Ens)
2. IR U

3. TI glaR

4. FTE9-Iifad (fdorefh

Options :

68019117857. 1
68019117858. 2
68019117859. 3

68019117860. 4

Question Number : 16 Question Id : 6801914582 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

gcollegedunias
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Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What 15 " Agenda 21" ?

1. It maintains a dynamic balance of water resources by reducing water
consumption for every unit of gross development product growth and
agricultural value added.

. Agenda 21 is a non-binding. voluntarily implemented action plan of then
United Nations with regard to sustainable development.

3. It 1s a free trade agreement between 7 developed countries of the world.

4. It 15 an agreement between 20 developing countries of the world on climate

change.

[ ]

Options :

68019117861. 1
68019117862. 2
68019117863. 3

68019117864. 4

Question Number : 16 Question Id : 6801914582 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"TSIST 21" T g2
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Options :

68019117861. 1
68019117862. 2
68019117863. 3

68019117864. 4

Question Number : 17 Question Id : 6801914583 Question Type : MCO Option Shufflina : No Is

uestion Mandatory : No Calculator : Scientific Response Time : N.A .
Q y P gcollegedumas

Minimum Instruction Time : 0 ~



Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII

(Characteristic) (Climate Elements)

High humidity accelerates

A : : [. |Composite or Monsoon
rusting and rotting.
B High day time temperature 1 Hot drv desert at night causes
" land rapid cooling " |crack to materials
. |Seasonal change in relative i
C. s = “7 |11 |Hot drv maritime
humidity cause 2
Tropical upland rapid
IV, |weakening of building
material

V. |Warm humaid

Choose the correer answer from the options given below:

. (A)-(IV). (B)~(ITT). (C)-(V)
- (A)-(V). (B)-(IL). (C)~(I)
. (A)-(IV). (B)-(V). (C)-(III)
4. (A)-(IV). (B)-(1). (C)-(II)

| R

L)

Options:

68019117865. 1
68019117866. 2
68019117867.3

68019117868. 4

Question Number : 17 Question Id : 6801914583 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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L (A)-(IV). (B)-(III). (C)-(V)
2. (A)-(V). (B)-(IT). (C)-(I)
3. (A)-(IV). (B)-(V). (C)-(III)
4. (A)-(IV). (B)-(I). (C)-(II)

Options :

68019117865. 1
68019117866. 2
68019117867. 3

68019117868. 4

Question Number : 18 Question Id : 6801914584 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Transportation, Land use and Road network plans are

1. Not linked

2. Intra linked

. Inter linked

4. Depends on the area and road network

s

Options :

68019117869. 1
collegedunia:

68019117870. 2
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68019117871. 3
68019117872. 4

Question Number : 18 Question Id : 6801914584 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gRag. Yl SUTRT 3R ¥3& Hcdd dioHI gl

gl foids (3id-gafda)
o9 4 93l 8%
4. 87 AR ISP "cap W AR Tware

Options:

fag a —

68019117869. 1
68019117870. 2
68019117871. 3

68019117872. 4

Question Number : 19 Question Id : 6801914585 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following design element is provided to ensure the safety of vehicle
traveling on a road at a specified design speed along the curved segment of a
highway

1. Shoulder

2. Median

. Footpath

4. Super-elevation

Tl

Options :
68019117873. 1

68019117874. 2

68019117875. 3 gcollegedunias

~

68019117876. 4



Question Number : 19 Question Id : 6801914585 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T & YHGER G & 91y U HiGy ST 1id iR I8 UR 9] 6=
aTel a8 B GR&1 GHIYd B o Fefafad o 9 oF 91 f$g dd ugH
CRIEIGIR

1. Qe

2. HifeeT (HifsTH)

3. By

4. FEIYH (IR TAaeH)

Options :

68019117873. 1
68019117874. 2
68019117875. 3

68019117876. 4

Question Number : 20 Question Id : 6801914586 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Vogel's approximation method 1s connected with

1. CPM

2. PERT

. Transportation problem
4. Inventory problem

L]

Options :

68019117877. 1
68019117878. 2
68019117879. 3

68019117880. 4

gcollegedunias
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Question Number : 20 Question Id : 6801914586 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1. Iidieg (cpMm)

2. 53R €1 (PERT)

3. GiRdg- &I ga=

4. %G T (g4 wHEn

Options :

68019117877. 1
68019117878. 2
68019117879. 3

68019117880. 4

Question Number : 21 Question Id : 6801914587 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct sequence in the four stage model used for transportation planning 1s :
(A) Trip Assignment

(B) Modal Split

(C) Trip Generation

(D) Trip Dristibution

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2.(C). (D). (B). (A).
3. (D). (A), (B). (C).
4.(C). (B). (D). (A).

Options :

68019117881. 1
68019117882. 2
68019117883. 3

68019117884. 4 :
gcollegedumas

~



Question Number : 21 Question Id : 6801914587 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GRas dioil 8q SUdRT fet & T IR =RUI 415d § el Y o:
(A) T TG (fPT 3RImsHe)

(B) HIsd faUre (@IS Wieio)

(C) T oA (feg Si-RE)

(D) T faavu (feu fgfesgzm)

- fau e fasedl O 9 98l SR I

- (A), (B). (C). (D).
.(C). (D). (B). (A).
.(D). (A). (B). (C).
4. (C). (B), (D). (A).

| I

L)

Options :

68019117881. 1
68019117882. 2
68019117883.3
68019117884. 4

Question Number : 22 Question Id : 6801914588 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A compact, pedestrian-oriented development with a mixed use of users. traditions
and streets, convenient services and well defined public spaces in urban area i3

1. TOD (Transit Oriented Development)

2. PUD (Planned Unit Development)

3. TND (Traditional Neighbourhood Development)
4. URP (Urban Regional and Planning)

Options :
68019117885. 1
68019117886. 2

68019117887. 3
gcollegedunias

68019117888. 4

~



Question Number : 22 Question Id : 6801914588 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e &7 T IUUNT Al i, TWWRTS! 3R TSl lauTee Jarsi aul
Uik rde-e il & [Ai¥d Sudiv & 9y U siide (JUes), Uad
uEf-Sa fde 8

1. 33T (IR 3% faor)
2. gt (Faiferd sebrs faom)

3. TIESl (URURS Sy faer)
4, GHRYT (16 &A1 SR FieH)

Options :

68019117885. 1
68019117886. 2
68019117887. 3

68019117888. 4

Question Number : 23 Question Id : 6801914589 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The NHDP are being undertaken by private companies on the basis of

1. Profit

2. BOT

3. Revenue

4. Commission Basis

Options:
68019117889. 1
68019117890. 2

68019117891. 3

68019117892. 4 .
collegedunia:

~



Question Number : 23 Question Id : 6801914589 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TTEe g el HufE g P YR R Har s Er gl

1. T
2. gt
3. T
4. PHIY BT YR
Options :
68019117889. 1
68019117890. 2
68019117891. 3
68019117892. 4

Question Number : 24 Question Id : 6801914590 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which 1s divided into two typologies : Coarse and Fine

1. Urban Form
2. Urban Grain
3. Urban Pattern
4. Urban Fabric

Options :

68019117893. 1
68019117894. 2
68019117895. 3

68019117896. 4

Question Number : 24 Question Id : 6801914590 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A .
collegedunia:

Minimum Instruction Time : 0

~



Correct Marks : 4 Wrong Marks : 1

O] &l WRI H fauTford o a1 8: Hiel (39fsed) 3R JgiH (URepa)

1. T3 B (F0)

2. T3 AT

3. 9et e (Wfaeg/wfaar)
4. I3 AHEHT

Options :

68019117893. 1
68019117894. 2
68019117895. 3
68019117896. 4

Question Number : 25 Question Id : 6801914591 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Book) (Author)
A | The image of city I. |Gorden cullen
B. |The concise townscape II. |Aldo Rosst
C. |The Architecture of the city III. [Whallium Whyte
D. |The last landscape IV. |Kevin Lynch

Choose the correct answer from the options given below:

. (A) - (IV). (B) - (D). (C) - (II). (D) - (IIT)
. (A) - (D). (B) - (I). (C) - (IIT). (D) - (IV)
- (A) - (D). (B) - (IT). (C) - (IV). (D) - (II)
. (A) - (IIT). (B) - (IV). (C) - (I). (D) - (II)

b =

e T

Options :
68019117897. 1
68019117898. 2

68019117899. 3

68019117900. 4
gcollegedunias

~



Question Number : 25 Question Id : 6801914591 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 T e GE- 8 &4

o | -1I
Bom o
G gH 3% e 0 BICE R
¢ HIORA O SRy | I (v
¢ 3ftheaer 31w § fGdl| . |[&ftra wge

G I dethy V. [$faa foig
= feu e fom el o 9 9l 3Tk I

. (A) - (IV). (B) - (I). (C) - (II). (D) - (IIT)
- (A) - (D). (B) - (). (C) - (IIT). (D) - (IV)
. (A) - (D). (B) - (IIT). (C) - (IV). (D) - (II)
. (A) - (III). (B) - (IV). (C) - (1). (D) - (II)

=

o|o|w

|

e T

Options:

68019117897. 1
68019117898. 2
68019117899. 3

68019117900. 4

Question Number : 26 Question Id : 6801914592 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a principle of architecture of Le Corbusier:

1. Open planning
2. Small windows
3. Pilotis

4, Terrace garden

Options :

68019117901. 1
68019117902. 2 @ collegedunia:

~



68019117903. 3

68019117904. 4

Question Number : 26 Question Id : 6801914592 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafad ¥ 9 &9 91 d Bldford & argddl @1 [Gid ol o

1. geil gIeFI

2. Bict fgsfoar
3. grgdiey

4. TG ST

Options :

68019117901. 1
68019117902. 2
68019117903. 3

68019117904. 4

Question Number : 27 Question Id : 6801914593 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The original concept for Radburn was based on which city planning concept?

1. Sector Planning

2. Garden City Planning

. Satellite City Planning

4. Neighbourhood Planning

L]

Options :
68019117905. 1
68019117906. 2

68019117907. 3

68019117908. 4 :
gcollegedumas

~



Question Number : 27 Question Id : 6801914593 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ISEH DI Hd SHAURUN fhd TR FTIoH SfauRu o SuiRd 4

1. S/&F giol

2. I e TISHA

. SIS RIER IS
4, U519 gioAl

Options :

L]

68019117905. 1
68019117906. 2
68019117907. 3

68019117908. 4

Question Number : 28 Question Id : 6801914594 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Development Authorities in India are established under the provision of :

1. 73rd Constitutional Amendment Act
2. Municipal Act

. Land Acquisition Act

4. Town and Country Planning Act

Taa

Options :

680191179009. 1
68019117910. 2
68019117911. 3

68019117912. 4

Question Number : 28 Question Id : 6801914594 Question Type : MCQ Option Shufflina : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A i
collegedunia:

Minimum Instruction Time : 0 <



Correct Marks : 4 Wrong Marks : 1

YRd H faerg mifteu 1w fFufialRad weyE & aed &1 7 &

. 7391 Gfay YA ffeHae
 TRUIAST ATy

i siftgr sfafan

4. TR Td UiF FgieE sifaf-gq

Options :

L N R

68019117909. 1
68019117910. 2
68019117911. 3

68019117912. 4

Question Number : 29 Question Id : 6801914595 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Medieval towns were surrounded by a moat and walls made of :

1. Clay or Brick
2. Stone or Clay
3. Brick or Lime
4. Stone or Brick

Options :

68019117913. 1
68019117914. 2
68019117915.3
68019117916. 4

Question Number : 29 Question Id : 6801914595 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

gcollegedunias

~

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TABTAA TR ..o ¥ id @ R Rl 9 i gu O

Options :

68019117913. 1
68019117914. 2
68019117915.3
68019117916. 4

Question Number : 30 Question Id : 6801914596 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
{Garden) (Features)

A |Mughal Garden | I. |Moss, manicured trees, rocks and water

8 lisissesis 14 Cvcle tracks, meandering walkwavs and

benches
Japanese Sculptures of pretty nymphs, angels and
L III. > % =
Garden fountains
D. |Gty Borest v Geometric floral patterns, flowing water

" land stone shelters

Choose the correcr answer from the options given below:

(A) - (I). (B) - (IV). (C) - (II). (D) - (II)
. (A) - (II). (B) - (II). (C) - (IV). (D) - (I)
. (A) - (IV). (B) - (III). (C) - (I). (D) - (II)
4. (A) - (D). (B) - (II). (C) - (IV). (D) - (I)

fag B2 —

Options :

68019117917. 1
68019117918. 2
68019117919.3

68019117920. 4 gcollegedunias

~



Question Number : 30 Question Id : 6801914596 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G171 T gt 9 &3

T =3

@ =m g

A (P15). AIdERS (HaR gY) US.
il e . g2 AR gHEl

B. [3dmcidl 3eH | 1L [Wrsfard ¢, gHIEGR I R &
R %c;awyaﬁ, cdgdl @l gfddi

b. [setia i i}ﬂ?ﬁaaﬂqﬁmqﬁ@r{mﬁ

3 g e fawed & 4 v SR

. (A) - (I). (B) - (IV). (C) - (IIT). (D) - (II)
. (A) - (IIT). (B) - (IT). (C) - (IV). (D) - (I)
. (A) - (IV), (B) - (III). (C) - (I). (D) - (II)
4.(A) - (ID). (B) - (IIT). (C) - (IV). (D) - (I)

b =

L]

Options :

68019117917. 1
68019117918. 2
68019117919. 3

68019117920. 4

Question Number : 31 Question Id : 6801914597 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The city’s shape 1s recognized as having developed into a large circle with intense
development radiating outward from the centre 1s :

1. Ring
2. Radial Concentric
3

. Curvilinear
4. Constellation gcollegeduniag

Options : S



68019117921.1
68019117922. 2
68019117923. 3

68019117924. 4

Question Number : 31 Question Id : 6801914597 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e P PR Bl Py U 915 Bl 3R (B0 T8 [ & Gy U 95 9
& ¥9 ¥ fapRid 89 & 9 ¥ ggamT 9idl &

1. 3! (URT)
2. 3R1G RISTS) Gbfad
3. 9p3dly
4. AR
Options :

68019117921.1
68019117922. 2
68019117923. 3

68019117924. 4

Question Number : 32 Question Id : 6801914598 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List I with List IT

LISTI LISTII
(Five vear plans) (Features)
A. E;;‘ Hawe s I |Introduction of INNURM

B. |Fourth five year plan| II. |Formation of HUDCO

Seventh five yvear

ITI. |Establishment of TCPO
plan

Announcement of National Housing

D. |Tenth five year plan | IV. Deslicy

Choose the correcr answer from the options given below:

L. (A) - (D). (B) - (IIT). (C) - (I). (D) - (IV)
2. (A) - (IID). (B) - (D). (C) - AV). (D) - (I)
3.(A)-(1). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (ITT). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019117925. 1
68019117926. 2
68019117927. 3

68019117928. 4

Question Number : 32 Question Id : 6801914598 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Teit-1 & e G- & Y

i T,

Uedl Udauid gieHET | 1 [SliuageRuE &1 Y&
41l Ugquig gl | 1L (Sl &l 764

rad! deauy gren| . [Sidtad &1 =

Sydl deauig aieE | V. [R191g sram Hifd &1 gmon

2 Ry e § & vl SR

1. (A) - (II). (B) - (IIT). (C) - (I). (D) - (IV)

. (A) - (IIT). (B) - (II). (C) - (IV). (D) - (I)
3. (A) - (D), (B) - (I1), (C) - (IV), (D) - (I1I) collegedunia:
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (I} ~

s

o|o|w




Options :

68019117925. 1
68019117926. 2
68019117927. 3
68019117928. 4

Question Number : 33 Question Id : 6801914599 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the correct order for Planned Housing ?

(A) People

(B) Service

(C) House

(D) Land

Choose the correct answer from the options given below:

1. (D). (B). (C). (A).
2. (B). (C), (A), (D).
.(B). (A). (D). (C).
.(C). (B). (D). (A).

e T

Options :

68019117929. 1
68019117930. 2
68019117931.3
68019117932. 4

Question Number : 33 Question Id : 6801914599 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



faifore siard o fog T8l oH ga?
(A) T

(B) Tdl (bT)

(C) 3MaN (W)

(D) Y&

- fou Y gl O 9§ 981 SR 9:

(D), (B). (C). (A).
.(B). (C). (A). (D).
.(B). (A). (D). (C).
- (C). (B). (D). (A).

2 =

e faa

Options :

68019117929. 1
68019117930. 2
68019117931.3

68019117932. 4

Question Number : 34 Question Id : 6801914600 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Bangalore city 1s a

1. Ecological city
2. Garden city

. Satellite city
4. Social city

L]

Options:

68019117933. 1
68019117934. 2
68019117935. 3
68019117936. 4

Question Number : 34 Question Id : 6801914600 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Thinls Tima - Rl A

Minimum Instruction Time : 0 collegeduniag

Correct Marks : 4 Wrong Marks : 1



S0 [ R AN TR §

1. TTiRfEfde 28R

2. 3¢ R

3. 39T RER

4. JrETfSTD TER
Options :
68019117933. 1
68019117934. 2
68019117935. 3

68019117936. 4

Question Number : 35 Question Id : 6801914601 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

While constructing soundproof cavity walls. the cavity width should be at least

.3 Cm
.10 Cm
.3Cm
4,5 Cm

Options :

faa b2 —

68019117937. 1
68019117938. 2
68019117939. 3

68019117940. 4

Question Number : 35 Question Id : 6801914601 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



s-RIeT TTgT SIaRi 1 FHi0 $Rd 99y, 51 & dIsl; $H 4 $H
__®H ey

.8 gH]
.10 9T
394
4. 594t

Options :

fad B2 =

68019117937. 1
68019117938. 2
68019117939. 3

68019117940. 4

Question Number : 36 Question Id : 6801914602 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not a Passive heating technique ?

1. Evaporative Cooling
2. Trombe wall

3. Sun space

4. Thermosiphon

Options :

68019117941. 1
68019117942, 2
68019117943.3
68019117944. 4

Question Number : 36 Question Id : 6801914602 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



frafefad § 9 o ot Aiseg aue ao-ie T6l o2

1. areaRfie Ritded

2. TIE iR

3. 90 R (I W)

4. G S (YHEE)

Options:

68019117941. 1
68019117942. 2
68019117943.3

68019117944. 4

Question Number : 37 Question Id : 6801914603 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the Indian green buildings listed below 1s Platinum LEED certified ?

. UniTech Commercial Tower, Chandigarh
. Dabur India. Chandigarh

. Logix cyber park. U.P.

4. Suzlon One Earth. Pune

|

L]

Options :

68019117945. 1
68019117946. 2
68019117947. 3

68019117948. 4

Question Number : 37 Question Id : 6801914603 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



9 Ydige YRdE gRd SHARG 8 9§ &1F 9l Wic"H dIS(LEED) WHIUId 87

1. gHIce SR TR, ISg
2. SR Sfsar, T8ig
3. QT AZeR Urep, Ui,
4. goTi o 3, qul
Options :
68019117945. 1
68019117946. 2
68019117947. 3

68019117948. 4

Question Number : 38 Question Id : 6801914604 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Clean Water Act (CWA) is associated with :

1. Discharge of pollutants into the water of the United Kingdom.
2. Discharge of pollutants into the water of India.

3. Discharge of pollutants into the water of the United States.

4. Discharge of pollutants into the water of Australia.

Options :

68019117949. 1
68019117950. 2
68019117951. 3

68019117952. 4

Question Number : 38 Question Id : 6801914604 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



a5 o gy (3. Seey, U.) a9 e &
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2. HRd & od § Ygud| Pl faqo- |

3. Had Iy SARPT & o § Hgyd! o [d9oi- |
4. fIfera & 9id & UguD| &1 [dgei |

Options :

68019117949. 1
68019117950. 2
68019117951. 3

68019117952. 4

Question Number : 39 Question Id : 6801914605 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the size of rain water pipe ?

1. 150 mm
2. 75 mm
3. 50 mm
4. 30 mun

Options :

68019117953. 1
68019117954. 2
68019117955. 3

68019117956. 4

Question Number : 39 Question Id : 6801914605 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~
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o b2 —

4. 30 forel
Options :
68019117953. 1
68019117954. 2
68019117955. 3

68019117956. 4

Question Number : 40 Question Id : 6801914606 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

This type of Escalators are connected side by side or with some distance between
them. These are usually at metro stations,

. Parallel Type

. Linear Type

3. Criss-Cross Type
4. Circular type

= —

Options :

68019117957. 1
68019117958. 2
68019117959. 3

68019117960. 4

Question Number : 40 Question Id : 6801914606 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~
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STHAR UR Hel € H R Bl gl

1. AR UBR

2. YEH UPR

3. [P U1 UPR
4. GUHR (TS UHR

Options :

68019117957. 1
68019117958. 2
68019117959. 3
68019117960. 4

Question Number : 41 Question Id : 6801914607 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following Trap is used for a water closet ?

. Anti-siphon Trap
. Gully Trap

. P-Trap

4. Intercepting Trap

I =

L]

Options :

68019117961. 1
68019117962. 2
68019117963. 3

68019117964. 4

Question Number : 41 Question Id : 6801914607 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



fafaRad o ¥ oF w1 <1 arex daioie (Y9dR) & fau Sugi favan o g2

Options :

68019117961. 1
68019117962. 2
68019117963. 3
68019117964. 4

Question Number : 42 Question Id : 6801914608 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The unit of Thermal Conduectivity of a material 1s :

W/ (m?K)
W/ (mEK)
3ImK/W

4. m? K /W
Options :

| R

68019117965. 1
68019117966. 2
68019117967. 3

68019117968. 4

Question Number : 42 Question Id : 6801914608 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



feot uaref &1 Hufig Iraedr $t 5T 6

1. SY((TH> &)

2. S&Y/(THP)

3. UHdh/S&g

4. T2 By
Options :
68019117965. 1
68019117966. 2
68019117967. 3

68019117968. 4

Question Number : 43 Question Id : 6801914609 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Summer. outside air 1s hot, and hence the process of air conditioning involves :
Filtering. Dehumidification and

1. Adsorption

2. Humidification
3. Pre heating

4. Reheating

Options:

68019117969. 1
68019117970. 2
68019117971.3

68019117972. 4

Question Number : 43 Question Id : 6801914609 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Tl H, G183l ga1 7T Bidl 8. SR SN araoad &) Wichal § 2EE &

e (Tpeefa). Rl (fsegfafsidem) ik __ |
1. ffer=rsoy
2. 3fifg@Rur
3. Ut BIfeT (gd are)
4. 81T ( )
Options :

68019117969. 1
68019117970. 2
68019117971. 3
68019117972. 4

Question Number : 44 Question Id : 6801914610 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An elevator's size 1s typically described in terms of :

1. Angle of swing
2. Travel in meters

: 1113

i

4. m*

LT}

Options :

68019117973. 1
68019117974. 2
68019117975. 3
68019117976. 4

Question Number : 44 Question Id : 6801914610 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



U [0 & PR I 3H dR W 9 & e J aflq i o &
AESHEAKa|
 Hiex 9 aen
.111?(13‘7:[3}
4. m? (UH?)
Options :

fag b —

68019117973. 1
68019117974. 2
68019117975. 3

68019117976. 4

Question Number : 45 Question Id : 6801914611 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Carbon Footprint 18 measured by :

1. Formula

2. Carbon dating

. Instruments

4. Carbon accounting

L]

Options :

68019117977. 1
68019117978. 2
68019117979. 3
68019117980. 4

Question Number : 45 Question Id : 6801914611 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



PIa Uaidg (Fefiic) &I 58 HHR 1T Sl o
gl .
 JYHIT

4, BE TGP
Options :

o b2 —

68019117977.1
68019117978. 2
68019117979. 3

68019117980. 4

Question Number : 46 Question Id : 6801914612 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which type of the fire extinguisher 1s used to put off class A fire 7

1. Foam type Extinguisher
2. Water type Extinguisher
. Dry chemical powder Extinguisher
4, Carbin dioxide (CO;) Extinguisher

s

Options :

68019117981. 1
68019117982. 2
68019117983. 3
68019117984. 4

Question Number : 46 Question Id : 6801914612 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



aﬁﬂ?gglfﬁTéHPT357§§Eﬁffaif%ﬂlﬁi??1ﬁﬁTEfﬁ'Sﬁ?ﬁﬂﬂq&FIEiEﬁT{quﬂTlﬁ$TH
Sl 82

1. B=ul oS
2. Oid U=U S
3. Y IS g SHO=THS
4. BTE SEIHARSS (CO,) HRRMHD
Options:
68019117981. 1
68019117982. 2
68019117983. 3

68019117984. 4

Question Number : 47 Question Id : 6801914613 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The following zones are formed in a polluted river under self-purification process :
(A) Zone of active decomposition

(B) Zone of pollution

(C) Zone of clear water

(D) Zone of recovery

Choose the correct sequence in which these zones occur progressively
downstream in a polluted river from the options given below:

1. (C). (B). (A). (D).
2. (B). (A). (D). (C)
3. (B). (C). (D). (A).
4. (C). (B). (D). (A).

Options :

68019117985. 1
68019117986. 2
68019117987.3

68019117988. 4

Question Number : 47 Question Id : 6801914613 Question Type : MC(
gcollegedunias

Question Mandatory : No Calculator : Scientific Response Time : N.A

~



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-2 WidhaT & ded ugid dl § FHafifed 8a ad &

(A) TfchT 3gee &1 &4

(B) UGHUT BT &

(C) TS5 UHI &1 &F

(D) GG (Gay) &1 &3
:ﬂﬁﬁ%ﬂqﬁaﬁﬁﬁ@ﬂﬁmgﬁmﬁﬁaﬁ@mﬂﬁﬁmm
Hglde:

1. (C). (B). (A). (D).
2. (B). (A). (D). (C).
3. (B). (C). (D). (A).
4. (C). (B). (D). (A).

Options :

68019117985. 1
68019117986. 2
68019117987.3

68019117988. 4

Question Number : 48 Question Id : 6801914614 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII

A |Sanittary Landfill I. |Rats and fly breeding

. |esmming e Limitu?d to special waste and selectede
materials

o s 1 High operational and maintenance
cost

D Salvage by v Requires Pre-sorting, grinding and

" |sorting " |[turning

Choose the correcr answer trom the options given below:

1. (A) - (). (B) - (I1). (C) - (III), (D) - (IV)
2. (A) - (II). (B) - (). (C) - (11I). (D) - (IV)

3. (A) - (I). (B) - (I). (C) - (IV). (D) - (III) g )
4. (A) - (III). (B) - (IV). (C) - (1. (D) - (I1) collegedunia:

~



Options :

68019117989. 1
68019117990. 2
68019117991. 3

68019117992. 4

Question Number : 48 Question Id : 6801914614 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EClS CIRERIEE Gl | S
EGln! FE-I

* | s e I |9 3R Al Pl US

B. |@aEifeeT IL Wﬁ Ef.qﬁiwﬁr‘jﬂéﬁa[l L
3o URETEH 3R TEE(d

C. | Y& HIm M e

o [FES S T @R | .. [9d-Ber, U SR ered

" |oe Frarm) (@t eramEar gt B
- fau e faedl T 9§ 981 SR 9 -

1. (A) - (D). (B) - (I). (C) - (II1). (D) - (IV)
2.(A)-I). (B) - (I). (C) - (IIT), (D) - (IV)
3. (A) - (I). (B) - (II). (C) - (IV). (D) - (IIT)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019117989. 1
68019117990. 2
68019117991. 3

68019117992. 4

Question Number : 49 Question Id : 6801914615 Question Type : MC M =#i== Cle--£llfem - RIS T
Question Mandatory : No Calculator : Scientific Response Time : N.A gco"egeduniag

~

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

In Urban cities like Bangalore. which of the water carriage system is used ?

1. Combined system

2. Partially seperate system

. Seperate system

4, Partially combined system

Taa

Options :

68019117993. 1
68019117994. 2
68019117995. 3

68019117996. 4

Question Number : 49 Question Id : 6801914615 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
STAR O TRE TR H A0 Y 59 o ulvags yummelt &1 3ugi i
SITdl 87

1. Tged yurelt

2. 3R T Y YU Yurreil

3. GU Yoreit

4. 31 =Y I GYad Yurei]

Options :

68019117993. 1
68019117994. 2
68019117995. 3

68019117996. 4

Question Number : 50 Question Id : 6801914616 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1 .
collegedunia:

~



The capacity of flushing cistern for urinals 1s generally :

1. 10 Liters
2. 3 Liters
3. 5 Liters
4. 7 Liters

Options :

68019117997. 1
68019117998. 2
68019117999. 3

68019118000. 4

Question Number : 50 Question Id : 6801914616 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATl & [Ty TR e (41aH Tabl) T &dl 31 AR R Bl 6:

1. 10 §ie?

2.3 @R

3.5 dlc?

4. 77
Options:
68019117997. 1
68019117998. 2
68019117999. 3

68019118000. 4

Question Number : 51 Question Id : 6801914617 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



The term ISWM refers to :

1. International Solid Waste Management
2. Integrational Solid Waste Mechanism

. Integrated Solid Waste Management

4. Interelated States Waste Management

L]

Options :

68019118001. 1
68019118002. 2
68019118003. 3

68019118004. 4

Question Number : 51 Question Id : 6801914617 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HTSUHSeYEH (ISWM) Xs& &I dlcdd &:

1. SITRIPIY 31 ARy Use
2. Uil Hatll 319 SMaRY yae-
UDId 319 HYRIY UaeH
4.11@'{%1%3?@6%1%%’%

Options :

Tad

68019118001. 1
68019118002. 2
68019118003. 3
68019118004. 4

Question Number : 52 Question Id : 6801914618 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



The value of ruling gradient in plams as per IRC 1s :

1.1 10
2.1m 30
3.1 15
4.1 140

Options :

68019118005. 1
68019118006. 2
68019118007. 3

68019118008. 4

Question Number : 52 Question Id : 6801914618 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&n'a‘agﬁr(mc; & IUR e sar! § i At (Hame yaumdn) &1
HH &:

10HT1
30HT1
15HT 1
440891

Options:

fag B —

68019118005. 1
68019118006. 2
68019118007. 3

68019118008. 4

Question Number : 53 Question Id : 6801914619 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Which one of the following prepare the specifications for the Highway ?

1. NHAI

2. MORTH
IRC

4. BIS

Options :

L]

68019118009. 1
68019118010. 2
68019118011. 3

68019118012. 4

Question Number : 53 Question Id : 6801914619 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafad § 9 oF 91 Ioar & o iRey TuR @xars?

1. TTUIUSITS (NHAI)
2. A1 (MORTH)

3. 3MS3IRAT (IRC)
4. dlagud (BIS)

Options :

68019118009. 1
68019118010. 2
68019118011.3
68019118012. 4

Question Number : 54 Question Id : 6801914620 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Which among the following is the most preffered type of transition curve by IRC
tor Highways ?

1. Cubic Parabola
2. Lemmniscate

. Spiral

4. Parabola

Options :

faa

68019118013. 1
68019118014. 2
68019118015. 3

68019118016. 4

Question Number : 54 Question Id : 6801914620 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafad 3§ 9 S I I9ENT & 7T 315 3Rt §RT SHU 9% &l 9alud
gdtel UPR o2

1, a{lﬁfﬁaﬂiﬂwmﬂm
aHfbe (fgamei)
3.@@@@%}

4. RIS (Uddd)
Options :

68019118013. 1
68019118014. 2
68019118015. 3

68019118016. 4

Question Number : 55 Question Id : 6801914621 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

gcollegedunias

~

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What 1s the width of a pavement of 2 lane National Highway ?

1. 70m
2. T85m
3.3T5m
4. 8.80m

Options :

68019118017. 1
68019118018. 2
68019118019. 3

68019118020. 4

Question Number : 55 Question Id : 6801914621 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

<l F arel AP ISR & UaHe Dl 9ISy, fohal gidl &2

. 0m {ﬁlﬁ)

.5m [L‘l )
. 75m {ﬁlﬁ)

4. 8. 80m [ﬁ[|EQ}

Options :

fag B2 —
A T T |

68019118017. 1
68019118018. 2
68019118019. 3
68019118020. 4

Question Number : 56 Question Id : 6801914622 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



The essential difference between CPM and PERT is-

. Critical path Vs. Critical Activity

. Arrow notation Vs. Precedence notation

. Deterministic approach Vs. Probabilistic approach
4. Project management Vs. Network Analysis

|

L]

Options :

68019118021. 1
68019118022. 2
68019118023. 3

68019118024. 4

Question Number : 56 Question Id : 6801914622 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

cPM (I 91 UH) 3R PERT (U1 S 3R &) & 9 1920 IR ©-

[

1. fopfepd (epifae) Ty s fohfcad (shifdd) Tiafafe
2. AR Yoo S @Gy gddl HabdH

3. fFafaardy FuRuEE! SfPeio g8 SHTaaK! e
4. ORTISHT Ug=M §99119 Jedd (IRTY 9e) fawersmT

Options :

68019118021. 1
68019118022. 2
68019118023. 3

68019118024. 4

Question Number : 57 Question Id : 6801914623 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

gcollegedunias

~

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If weight of one cubic meter of each of the following material 1s recorded. which
one is the heaviest 7

. Stone ballast

. Earth (ordinary)
. Steel

4, Cement

o I —

Options :

68019118025. 1
68019118026. 2
68019118027. 3
68019118028. 4

Question Number : 57 Question Id : 6801914623 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe Fafafad Il & T Ude &1 S U Hie 9o gof (5l oT af BIF I
&g 3P YR 82

1. TR & dae
2. Jedl (HIYIROT)
3. €9 (3m)
4. e

Options :

68019118025. 1
68019118026. 2
68019118027. 3

68019118028. 4

Question Number : 58 Question Id : 6801914624 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

gcollegedunias

~

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The form used in public work for measurement book is

1. Form 21
2. Form 22
3. Form 23
4. Form 24

Options :

68019118029. 1
68019118030. 2
68019118031. 3

68019118032. 4

Question Number : 58 Question Id : 6801914624 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1. B 21
2. WBIH 22
3. B 23
4. FH 24
Options:
63019118029. 1
68019118030. 2
68019118031. 3

68019118032. 4

Question Number : 59 Question Id : 6801914625 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



In which type of estimate. 'courtyard' 1s not considered ?

1. Plinth area estimate
2. Cube rate estimate
3. Lump sum estimate
4. Umit rate estimate

Options :

68019118033. 1
68019118034. 2
68019118035. 3

68019118036. 4

Question Number : 59 Question Id : 6801914625 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ YPR & SFHM . '3 IR f9aR 78! a1 srarg 2

1. Ty &% e/ &7 &1 30

2. 9 &R A
3. UHHId HJHIH

4, &R &1 STHAF

Options :

68019118033. 1
68019118034. 2
68019118035. 3

68019118036. 4

Question Number : 60 Question Id : 6801914626 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Degree of Accuracy for Areas in estimating construction work i1s :

1. 0.01 cum
2. 0.01 meter

. 0.01 sq.m
4. 0.001 sq.m

L]

Options :

68019118037. 1
68019118038. 2
68019118039. 3

68019118040. 4

Question Number : 60 Question Id : 6801914626 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT R e § Saha/&8d & [ Teidpal &1 (59 (@I1e) &

1.0.0 1 T HIR
2.0.01 Hiex

3.0.01 T HR
4. 0.001 T Hiex

Options:

68019118037. 1
68019118038. 2
68019118039. 3
68019118040. 4

Question Number : 61 Question Id : 6801914627 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

gcollegedunias

~

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A |Beam / Slab [. |Tension
B. |Cable II. |Mendional stress
C. |Shell III. |Elexure
D. |Arch IV, |Compression

Choose the correct answer from the options given below:

1. (A) - (I1). (B) - (I). (C) - (IV). (D) - (III)
2. (A) - (I). (B) - (IT). (C) - (II). (D) - (IV)
3. (A)-(I). (B) - (IT). (C) - (IV). (D) - (III)
4. (A) - (IID). (B) - (I). (C) - (II). (D) - (IV)

Options :

68019118041. 1
68019118042. 2
68019118043. 3
68019118044. 4

Question Number : 61 Question Id : 6801914627 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

GA11 S WY AL &1 HaH &2

1 g1

s R fe)| 1L |$eF e fEamE)

B (T AR) 11 |aRfEgAe i) gae
21d (@Icl/ HTa) 111 |FIRR ({8 gsH)

I Hew@ Ay | v [8EEE @disE)
3 Ry e el § 3 ol SR

1. (A) - (IT). (B) - (I). (C) - (IV). (D) - (I1I)
2.(A) - (I). (B) - (II). (C) - (II). (D) - (IV)
3.(A) - (). (B) - (I). (C) - (IV). (D) - (III)
4. (A) - (III). (B) - (I). (C) - (II). (D) - (IV)

REE

Options :

68019118041. 1 gcollegedunias

68019118042, 2 )



68019118043. 3
68019118044. 4

Question Number : 62 Question Id : 6801914628 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the components of Geographical Information System
(A) Real time data handling

(B) Computer system and software

(C) Total station points

(D) Data management and analytical tool

Choose the correcr answer trom the options given below:

. (A). (B) and (D) only.
. (A). (B) and (C) only.
. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

I =

L]

Options:

68019118045. 1
68019118046. 2
68019118047.3

68019118048. 4

Question Number : 62 Question Id : 6801914628 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A). (B) 3R (C)Pad|
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4.(B). (C) 3R (D) Had|

fag bd =

Options:

68019118045. 1
68019118046. 2
68019118047.3

68019118048. 4

Question Number : 63 Question Id : 6801914629 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The input to geoprocessing 1s :

1. Alpha-numeric
2. Numeric

. Alphabet

4. Data-sheet

L]

Options :

68019118049. 1
68019118050. 2
68019118051. 3

68019118052. 4

Question Number : 63 Question Id : 6801914629 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A
Minimum Instruction Time : 0 gcollegedunias

~



Correct Marks : 4 Wrong Marks : 1

R & Rie gge

1. AeR-HETHD
2. ITHD

3. gUiETEl

4. Sc1-gjie

Options:

68019118049. 1
68019118050. 2
68019118051. 3
68019118052. 4

Question Number : 64 Question Id : 6801914630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the first step of Geoprocessing ?

1. Management
2. Processes

3. Data Analysis

4. Information Analysis

Options :

68019118053. 1
68019118054. 2
68019118055. 3

68019118056. 4

Question Number : 64 Question Id : 6801914630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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Options :
63019118053. 1
68019118054. 2
63019118055. 3

68019118056. 4

Question Number : 65 Question Id : 6801914631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Prefabrication 1s a construction method.

1. Established
2. Industrialised
. Modern

4. Automotive

L]

Options :

68019118057. 1
68019118058. 2
68019118059. 3

68019118060. 4

Question Number : 65 Question Id : 6801914631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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Options:

68019118057. 1
68019118058. 2
68019118059. 3
68019118060. 4

Question Number : 66 Question Id : 6801914632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Land Acquisition Act, 2013 in India has replaced which earlier legislation ?

1. The Land Acquisition Act, 1956
2. The Land Acquisition Act. 1962
. The Land Acquisition Act. 1894
4. The Land Acquisition Act, 1891

L]

Options:

68019118061. 1
68019118062. 2
68019118063. 3

68019118064. 4

Question Number : 66 Question Id : 6801914632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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Options:

|

68019118061. 1
68019118062. 2
68019118063. 3
68019118064. 4

Question Number : 67 Question Id : 6801914633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The Right to Fair Compensation and Transparency in Land Acquisition,
Rehabilitation and Resettlement Act, 2013 came into force on :

. 26th December 2013
. 28th December 2013
. 1st January 2014

4. 10th January 2014

fag B2 —

Options :

68019118065. 1
68019118066. 2
68019118067. 3

68019118068. 4

Question Number : 67 Question Id : 6801914633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1 .
collegedunia:
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Options :

L N B

68019118065. 1
68019118066. 2
68019118067. 3

68019118068. 4

Question Number : 68 Question Id : 6801914634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following can not be drawn from the population pyramid of a
country?

1. Total Population Size

2. Gender Distribution with Population
. Dependancy Ratio

. Population Growth Rate

e g

Options :

68019118069. 1
68019118070. 2
68019118071. 3

68019118072. 4

Question Number : 68 Question Id : 6801914634 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

gcollegedunias
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Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019118069. 1
68019118070. 2
68019118071.3
68019118072. 4

Question Number : 69 Question Id : 6801914635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s an example of a passive remote sensing technology 7

1. Doppler Radar

2. Radiometers

. Synthetic Aperture Radar
4. Hyperspectral Imaging

Taa

Options :

68019118073. 1
68019118074. 2
68019118075. 3

68019118076. 4

Question Number : 69 Question Id : 6801914635 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

gcollegedunias

~

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019118073. 1
68019118074 2
68019118075. 3

68019118076. 4

Question Number : 70 Question Id : 6801914636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Photogrammetry interprets which of the following data 7

. Radiation

. EM Radiation

. P Radiation

4. Active Radiation

b =

L]

Options :

68019118077. 1
68019118078. 2
68019118079. 3

68019118080. 4

Question Number : 70 Question Id : 6801914636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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1. fafeor
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Options :

68019118077. 1
68019118078. 2
68019118079. 3

68019118080. 4

Question Number : 71 Question Id : 6801914637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In multilevel classification system, Level IV classification 1s suitable for :

1. Medium altitude aerial photographs
2. Low altitude aerial photographs

. Landsat MSS mmages

4. High altitude aerial photographs

L]

Options :

68019118081. 1
68019118082. 2
68019118083. 3
68019118084. 4

Question Number : 71 Question Id : 6801914637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1 .
collegedunia:
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Options :

'L.ulul—l

68019118081. 1
68019118082. 2
68019118083. 3

68019118084. 4

Question Number : 72 Question Id : 6801914638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
[KONOS was launched and managed by :

1. NASA

2. Roscosmos

CSA

4. Space imaging Inc.

Taa

Options :

68019118085. 1
68019118086. 2
68019118087. 3

68019118088. 4

Question Number : 72 Question Id : 6801914638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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Options :
68019118085. 1
68019118086. 2
68019118087. 3

68019118088. 4

Question Number : 73 Question Id : 6801914639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following given options is not a principle of remote sensing ?

1. Interaction of energy with satellite

2. Electro-magnetic spectrum

. Electromagnetic energy

4. Interaction of energy with atmosphere

Taa

Options :

68019118089. 1
68019118090. 2
68019118091. 3

68019118092. 4

Question Number : 73 Question Id : 6801914639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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Options :

68019118089. 1
68019118090. 2
68019118091. 3

68019118092. 4

Question Number : 74 Question Id : 6801914640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is an example of a satellite-based remote sensing platform?

1. Ground-based LiDAR
2. Unmanned Aerial Vehicles (UAVs)

. International Space Station
4. Landsat

Options :

L

68019118093. 1
68019118094. 2
68019118095. 3

68019118096. 4

Question Number : 74 Question Id : 6801914640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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Options :

68019118093. 1
68019118094. 2
68019118095. 3

68019118096. 4

Question Number : 75 Question Id : 6801914641 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following waves can travel through empty space ?

1. Sound waves

2. Electromagnetic waves
3. Seismic waves

4. Water waves

Options:

68019118097. 1
68019118098. 2
68019118099. 3

68019118100. 4

Question Number : 75 Question Id : 6801914641 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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Options :
68019118097. 1
68019118098. 2
68019118099. 3

68019118100. 4
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